

Feb 19-8:47 AM

Limit Rules:
Suppose
$$\lim_{x\to a} f(x) = L_1$$
 and $\lim_{x\to a} g(x) = L_2$
 $\lim_{x\to a} \left[f(x) + g(x) \right] = \lim_{x\to a} f(x) + \lim_{x\to a} g(x) = L_1 + L_2$
 $\lim_{x\to a} \left[f(x) + g(x) \right] = \lim_{x\to a} f(x) - \lim_{x\to a} g(x) = L_1 - L_2$
 $\lim_{x\to a} \left[f(x) - g(x) \right] = \lim_{x\to a} f(x) - \lim_{x\to a} g(x) = L_1 - L_2$
 $\lim_{x\to a} \left[f(x) \cdot g(x) \right] = \lim_{x\to a} f(x) \cdot \lim_{x\to a} g(x) = L_1 \cdot L_2$
 $\lim_{x\to a} \frac{f(x)}{g(x)} = \frac{\lim_{x\to a} f(x)}{\lim_{x\to a} g(x)} = \frac{L_1}{L_2} \quad \text{if } L_2 \neq 0$
 $\lim_{x\to a} f(x) = \frac{1}{2} \lim_{x\to a} f(x) = \frac{1}{2} \lim_$

Feb 15-8:48 AM

6)
$$\lim_{x\to\infty} [S(x)]^n = [\lim_{x\to\infty} S(x)]^n = L_1$$
 $x\to\infty$

7) $\lim_{x\to\infty} K \cdot S(x) = \lim_{x\to\infty} K \cdot \lim_{x\to\infty} S(x) = K \cdot L_1$
 $x\to\infty$
 $x\to\infty$

Feb 15-8:56 AM

$$\lim_{2 \to -2} \frac{5x^{3} + 4}{x - 3} = \lim_{2 \to -2} (5x^{3} + 4)$$

$$\lim_{2 \to -2} \frac{5x^{3} + 4}{x - 2}$$

$$\lim_{2 \to -2} 5x^{3} + \lim_{2 \to -2} 4$$

$$\lim_{2 \to -2} 5 \cdot \lim_{2 \to -2}$$

Evaluate
$$\lim_{x \to 0} \frac{\sqrt{x^2 + 4}}{3x - 6}$$
 Direct plug in $\lim_{x \to 0} \frac{\sqrt{x^2 + 4}}{3x - 6} = \lim_{x \to 0} \frac{\sqrt{x^2 + 4}}{3(0) - 6} = \frac{2}{-6} = \frac{1}{3}$

$$\lim_{x \to 0} \frac{\sqrt{x^2 + 4}}{3x - 6} = \lim_{x \to 0} (3x - 6)$$

$$\lim_{x \to 0} 3x - \lim_{x \to 0} 6 = \lim_{x \to 0} \frac{x^2 + \lim_{x \to 0} 4}{x + 0} = \lim_{x \to 0} \frac{3 \lim_{x \to 0} x - \lim_{x \to 0} 6}{x + 0} = \lim_{x \to 0} \frac{\sqrt{\lim_{x \to 0} x^2 + \lim_{x \to 0} 4}}{3 \lim_{x \to 0} x - \lim_{x \to 0} 6} = \frac{\sqrt{4}}{3 \lim_{x \to 0} x - \lim_{x \to 0} x - \lim_{x \to 0} 6} = \frac{\sqrt{4}}{3 \lim_{x \to 0} x - \lim_{x$$

Feb 15-9:07 AM

$$f(x) = \begin{cases} \frac{x^2 - 4}{x - 2} & \text{if } x \neq 2 \\ 4 & \text{if } x = 2 \end{cases}$$
Is $f(x)$ continuous at $x = 2$?

$$\lim_{x \to \infty} f(x) = f(x)$$

$$\lim_{x \to \infty} f(x) = \lim_{x \to 2} \frac{x^2 - 4}{x - 2} = 0$$

$$\lim_{x \to 2} f(x) = \lim_{x \to 2} \frac{x^2 - 4}{x - 2} = 0$$
Since $\lim_{x \to 2} f(x) = \int_{x \to 2} \frac{(x + 2)(x + 2)}{x \to 2}$
then $f(x) = \int_{x \to 2} f(x) = \lim_{x \to 2} \frac{(x + 2)(x + 2)}{x \to 2} = \lim_{x \to 2} \frac{(x + 2)(x + 2)}{$

Feb 15-9:13 AM

Evaluate
$$\lim_{\chi \to \infty} \frac{4\chi^2 - 8}{2\chi^2 + 4} = \frac{\infty}{\infty}$$
 I.F.

$$\lim_{\chi \to \infty} \frac{4\chi^2 - 8}{2\chi^2 + 4} = \lim_{\chi \to \infty} \frac{\frac{4\chi^2}{\chi^2} - \frac{8}{\chi^2}}{\chi^2}$$

$$\lim_{\chi \to \infty} \frac{2\chi^2 + 4}{\chi^2} = \lim_{\chi \to \infty} \frac{\frac{4\chi^2}{\chi^2} - \frac{8}{\chi^2}}{\chi^2} + \frac{4}{\chi^2}$$

$$\lim_{\chi \to \infty} \frac{4 - \frac{8}{\chi^2}}{\chi^2} + \frac{4}{\chi^2} = \frac{1}{\chi^2}$$

Feb 15-9:22 AM

Evaluate
$$\lim_{z \to 0} \frac{\int x^2 + 4 - 2}{z} = \frac{\int 0^2 + 4 - 2}{0} = \frac{54 - 2}{0} = \frac{2 - 2}{0}$$

$$\lim_{z \to 0} \frac{\int x^2 + 4 - 2}{z} = \lim_{z \to 0} \frac{(\int x^2 + 4 - 2)(\int x^2 + 4 + 2)}{x(\int x^2 + 4 - 2)}$$

$$\lim_{z \to 0} \frac{\int x^2 + 4 - 2}{x} = \lim_{z \to 0} \frac{\int x^2 + 4 - 2}{x}$$

Feb 15-9:29 AM

Evaluate
$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \infty - \infty$$
 $\chi \to \infty$

Let $\chi = 1000$

Let $\chi = 1000$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi)(\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi)(\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi)(\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} - \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi) = \lim_{x\to\infty} (\sqrt{x^2+4\chi} + \chi)$$

$$\lim_{x\to\infty$$

Feb 15-9:34 AM

Class QZ 5

Box Your Final Ans

1)
$$\lim \frac{x^3 - 8}{x - 2} = \frac{0}{0}$$
 I.F. $\lim \frac{x^3 - 8}{x - 2} = \lim \frac{(x - 2)(x^2 + 2x + 1)}{x + 2}$
 $= \lim (x^2 + 2x + 1)$
 $= \lim (x^2 + 2x + 1)$

Feb 15-9:44 AM